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2020
ECONOMICS
[HONOURS]
Paper : 1
Full Marks : 100
The figures in the right-hand margin indicate marks.

Time : 4 Hours

Candidates are required to give their answers in
their own words as far as practicable.

Answer all the questions.

GROUP-A
fe—s
[Marks : 50]
1. Answer any two questions: 1x2=2
-G 7o 2 Ted wis ¢

MU,

a) If be constant, how will the

y

indifference curve look like?

M ﬁg $9F ¥ O[F @FArF @ (RTe

y

(P (] ?
b) If MP >AP , how will AP, change when L

increases?
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d)

TW MP,>AP, T, O3 L J&a A0 AH AP,
eI «fiafee z=e

Distinguish between cardinal and ordinal
utility.

Cardinal €3% Ordinal S#AIfSTeR Ty 2112y
]|

What is iso cost line?

AN @A Fe

Answer any five questions: 2x5=10

Q- #Ans ame Tex we ¢

a)

b)

d)

Show that if MC>AC, then AC rises.

@dle @ WM MC>AC T ©&@ AC Ia I17 |
What are ridge lines?

Ridge (341 52

Show that in a two-good world both goods
cannot be inferior goods.

e @ o vy [ Teited oFa Tew w53
58 2ro #At 1

Write the main assumptions of perfect

competition.

s efSrRiforone AeE 2 SR
@

Define substitute and complementary goods.

7S 7 g ARISFF TR RS We |
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g)

Answer any three questions:

State the weak axiom of revealed preference.
sifwia A6 oIlew ©res 1@%{ axiom fo @41
What is arc elasticity of demand?

SIfEAE Jebivere Ffegerel St e ?
6x3=18

- foals 2o Teg wie ¢

a)

b)

c)

Show that two linear demand curves having
the same price intercept and different slopes
will have the same price elasticity at a given

price.

(NG (AN SCF L (USRS 3R AL Ble]
RS qib FECARS Sifenl @29 GFea, 9
e wie wivere Ffogseer 2 [ |

If two goods are substitutes in consumption,
show that effect of a price fall in one of the
goods on the purchase of the other

diagrammatically.

S w3y st AAfvS 7, I 9o v g™
A O@ FI6 @K 43 [T oA a@
@iforaa ARE [ F4

How is long-run average cost curve derived?

AP o I @A T ohe e
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d)

Answer any two questions:

What is the significance of average fixed cost
in the short-run for a firm under perfect

competition making losses in production?

AFSRITORETS TG T2 FHIE Fo =T,
U 51T B JET 9T 2

Show how you can measure consumer's

surplus.
(oles Tgs fheld #Ifeiy T IR O (e |
10%x2=20

- 76 AT TSR 7S ¢

a)

b)

Explain how equilibrium is reached in a
competitive market. When is such an

equilibrium stable?

ARSRfSToRETS A T orE R
27 O3 SR U I =W e

In case of two normal goods using Slutsky
decomposition derive ordinary and

compensated demand curves for one good.

wib Fele wewd @%@, Slutsky o=
T @ I G T &= A= Bl
GR FoFT HIRAIE o |

Assuming a C-D production function prove
that (i) returns to scale is constant but returns

to proportions is diminishing, (i1) isoquants
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d)

Answer any two questions:

are downward-sloping and convex.

GG C-D (AR TAT SATFF (A 2]
37 (i) Returns to scale SIARIeTy fFg
Returns to proportions RPN @R (ii)
SRS (@ TR @ e |

State the assumptions of Marshallian demand
theory. Derive the concept of equimarginal

utility in terms of this theory.

TR elerergd SaReiefl [ge 791 @@
OGS AR AT SoEfareR ai=e e
faefa <=1 T orane |

GROUP-B
ISR
[Marks : 50]
1x2=2

-G 7o 2 Ted wis ¢

a)

b)

c)

Define GDP.

%] S[ereAle SRAMER e WIS |

What do you mean by national income?
eI O <BI0e 5 (R 2

What are the variables whose equilibrium
values are determined by the IS-LM model?
IS-LM (S @ beraiisfers ey e
difre = ek & (5o
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d)

Answer any five questions:

If propensity to save rises how will the IS
curve shift?

LT @3T8l AT 1S @ e AfRfEe
2(q?

2x5=10

Q- #Ans ame Tex we ¢

a)

b)

What is money multiplier?
R @l {2

Show that in a closed economy savings and

investment are always equal.

@mAle @ OF0 I7 T I @6 AL 8
@5 fRfce < A= |

What does an IS curve show?

@35 IS~ 5 e

State the real balance effect.

oFe IS AETR doR Rge 4

If the speculative demand for money is
infinitely interest-elastic, how and why will
the rate of interest be affected if there is an

increase in money supply?

e wivewie viftn W SwEe -
Riogos o0 oIz Sda @il ATE AW
A TAF OFF TS T ZE R @2
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g)

Answer any three questions:

Point out the classical range and the

Keynesian range of the LM curve?

LM @R FIORE oo’ @ @pin SiRe’
ot 791

What is money illusion?
wdafE FF @2
6x3=18

- foals 2o Teg wie ¢

a)

b)

Explain the marginal efficiency criterion and
the present value criterion of investment.
e aifes wrel Sifs ¢ I8 T Fifo
AR S |
Under what conditions will the IS-curve be
[S-LM (q91 ¥
1)  Vertical

CEK|
11)  upward sloping?

TRYA Z@2
Explain the equilibrium condition in the
circular flow of income. How can the
equilibrium change?
R 2RNER € FI0SH SR *[S(6 /<y 54 |
G2 SRy e HAfaaed =
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d)

Answer any two questions:

Explain the value added method to measure
national income.

TSI SIF Aol FCe 6T ARG Aweo
AR RS |

State the main features of the Keynesian
theory of multiplier. Is it a tautology?
(TP ST G o (ARl Rge |
37 5 fawle?

10x2=20

- 76 AT TSR 7S ¢

a)

b)

How does Keynes explain the inverse relation
between speculative demand for money and

the bond rate of interest?

oda FhEee ST 8 qed T AW
EF RoFed TF @] e
FAMRLET 2

Make a comparative analysis between
classical and Keynesian macroeconomic

models.

FIFE ¢ @3PIE ANBe gdiafes
MR QAT SIS 4|

Using the IS-LM framework, analyse the
effects of an exogeneous change in money

supply on the equilibrium values of the level
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d)

of income and the rate of interest in a closed

economy.

a3 T7 LAfeT TP AT @A
SAfITET Z(F S SRET € SR AW
T 5 2o 7@ IS-LM WeEd Fo
JIRE T @G |

Show that full employment is automatically
achieved in a classical macroeconomic

model.

ot TfRere wetafes e sfa@e @
G Foshra AT O @S |
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